
MEEG 2013  Quiz #2.m10
 

In the system shown, cylin-
der B of mass mB = 60 kg 
moves with . 
Determine (a) the mass m

20.8 m/sB ↓=a
A 

of cylinder A, (b) the ten-
sions T1 and T2 in cables 1 
and 2, respectively. 

 
--------------------------------------------------------------------------------------------------------------------- 
 
 
 
 
 
 
 
 

4 3A Bx x+ = k 0     4 3  BAa a+ =
20.8 m/sB ↓=a     20.8 m/sBa = +

20.6 m/sAa = −     20.6 m/sA ↑=a  
 1 
 

A:     12 (9.81) (0.6)A AT m m− =
C:     1 22 0T T− =
B:     3 23 60(9.81) 60(0.8)T − = −

 
 
 
 
 
 
 
 
 

 

 1       1       1 
 

           69.2 kgAm =      1 360 NT =      2 180.2 NT =  3 


